PMC PRACTICE TEST 06

Q.1  The outermost layer In a typlcal plant cell would be
A. Primary cell wall B. Secondary cell wall
D. Cell surface membrane
Q.2 Which of the following pigment Is Blue- green In colour?
B. Chlorophyll b
C. Chlorophyll ¢ D. None of these
Q3 Cartilage Is a form of:
A. Cardiac tissue B, Connective tissue
C. Epithelial tissue D. Nervous tissue
Q.4 What s the function of the Muld secreted by sertoll cells?
A. Provides liquid medium B. Provides protection (o sperms
C. Provides nourishment to sperms
Q.5 Monosynaptic reflex arc consists of: SN
n One sensory neuron only 2] B Onen niojor neuron only
_ Two neurons, one se nsory l]LlIII-'II] EIH.'- ope molor neuron
D None of these \\\
Q.6 Breathing rate In humans nl. rest is: \ \\
A. 10 to 15 times per mmu:l: LD 10 20 times perohigute
C. 80 1o 120 times per mimm:
Q.7 Population grnuth Is chrn:lml by which of the I‘olln‘iﬂng
A.No cmnpeutmn l. 'l, B. No pnlymorphmn
C. Pnlvmnrnlﬁgm N '
Q8 Reaﬂlnml which 5Im}le | hmﬁ_ll_l_n'ud'm'furm complex
sub;l_:nm e called? ™ \Q 7 /
MMuahnlwr aclions \,\ B. Ca abolic reactions
D. None of these
Q.9 ("'hrnmnsunml ‘that hlﬂ HIurcnt alleles Of a given gene at locus Is called?
A Hnmumuus . / B X chromosomes
C.Y r:hrnmosumc:;
Q.10 [Inwhat year was the first pr on vaccinated by Edward Jl.'nner
A. 1876 — & 4 ]‘”Ih
C. 1696 r D. lESﬂ
Q.11 The penctic changefn a population caused by natural selection Is called?
A. Polymorphism B. Specialization
C. Gene linkage
Q.12 The large pumber of bundle fibers that joins the lem and right cerchral
hemlispheres Is called:
A. Broca's area B. Lateral sulcus
D. Thalamus
Q.13 What Is 2 Provirus? 5. Free DNA
g. I]:tre ;il-l;l;sx-ims D Integrated viral &
Q.14 C;n:rr[l:rlu are composed of how many triplets of m[mmh“l“
& 12 b, P—
Q.15 In acldle medlum, amino aclds carry positive charge and act a
g‘: ;::ﬂrﬂl D. None of these
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Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q24

Q.15

Q.26

Q.27

Q.18

Q.29

Q30

Q31

A Dutch sclentlst firstly observed very small creatures In
A_ Vinegar B. Saliva

D. All of Above
What is the origin of the acoelomate gut?

A. Ectodermal B. Mesodermal

C. Endodermal D. None of these

Umbilical cord contalns which of the following?

A. Pluripotent stem cells B. Blood stem cells

Cord blood stem cells D.Both Aand B
Mantle in molluscs Is present over which of the following regions?
A Head B. Dorsal muscular foot
C. Dorsal visceral foot D. Both A and B
What is the viral nucleocapsid made up ol?
A. Genome and capsid B. Capsid and spikes
C. Envelope and capsid D.C apsomere and genome
The resting potential membrane is delermlned h which of the following?
A. Potassium 1on gradien) B Sﬂd.ll:lm oo gradient
C. Bicarbonale ion gradient D. Nnnu u}ﬂjese
A hydrostatic skeleton [s presentin ey \\\

A. Anthropods

Q! T

C. Annelids M/r{ Dﬁﬁtﬁnm&m‘
What type of viruses apé the polioviruses? -\\\ T

A. DNA enveloped virus

C. DNA naked viri§ D. RNA'naked virus
In which orgn.im males are haplnlﬂ" \ Y.

A_ Aphids \\H.\Mosquﬂu

C. Eunuﬂy\ \1
“'hujﬁg‘:lﬂp\ 1atheory ul' natu Isclrcliuu H‘il‘ll.'li:-l“"o [ientical to
vy

n's?

A. light independent reactior B. light dependent reaction

C.Botha aud nﬁf“/ D. None of these
The ultimate sou ' e change Is?

A. Migration -'

C. Genelic r.Tn_['l. D Selecimn
Visible genetle tralts include which of the following?
A. Hair calor B. Eve color

C. Number of limbs 0. All of these

Is a competitive Inhibitor of succinle dehydrogenase.
A Malonic acid B. Malic acid
C. Fumaric acid D. Acelic acid
An activated enzyme consisting of polypeptide chain and a cofactor is called?

A. Apoenzyme B. Holoenzyme

C. Activated enzyme D.BothBand C
Cell wall Is only abisent In following group of bacteria
A. Staphylococei B. Pseudomunas

C. Diplococcus pneumonia D. Mycoplasmas
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Q32

Q33

Q34

Q35

Q36

Q37

Q38

Q39

Q.40

QA1

Q42

Q.43

A researcher Is studying a population of Insects and notlces that 60% have
red eves, 30% have apricot eyes, 5% have white cyes, and 5% have pink eyes.
Which of these eye colors would be designated the wild type?

B. White

C. Pink D. All of these
Calclum, during muscle contraction binds with:

A_ Tropomyosin B. Tropomn C
C. Troponin | D. Troponin T
What are the distingulshing features of fibrous protelns?

A Non-crystalline B. Elastic

C. Disorganized D. Both A and B

Who was the first to propose an objective definition of Instincts In terms of
animal behaviour?
A. Wallace B Lamark

C. Lyell D Wi

A muscular passage that Is common to Iml.ll/fl:o and alr Is known as
A. Bronchi an-:hmles

C. Larynx

Photosystem 2 absorbs maxim
A. 750

.l I‘hun nx

fallowing?

A. Autonomic res;

A\
C. Somatic rcsﬁsl:lfe\ “Re
SIV is the abbreviation'of. \
A \1m11r| immunodeliciency virus '
B. Silurian immunodeficiency \‘/

L a
Slé'um immunode ficiency viriis

D. Bbth A and \ -
4#5{m modﬂ

which of the rnﬂo“ﬂ;
A Phnspﬁi‘iﬁ]';:i

C. Intrinsic ]]mll;'ius.__r _
HMow many mo
molecule nl'cnrl:gh)-d ate?
A2

C.4

The 23rd pair of chromosomes In man Is:

A. Polymorphic 3. Heteromorphic

e plasma membrane Is composed of

B. Exfirinsic proteins

3. All of these

rbon dioxide enter the calvin cycle to produoce one

OB
— Y

C. Homomorphic D. Automorphic

High fever, cold, and cough with sputum production are symptoms of
A Emphysema B. Asthma

C. Poneumonia D. Bronchitis

This is a example of glycoprotein

A. Starch B. Haemoglobin

C. Lecithin D. Mucin

The thick and thin Olaments of myollbrils are arranged 1o unlts called:
A. Z-line B. Aactin

D. Sarcolemma
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Q46 ATP is used when___
A. To synthesize the macromolecules
B. To transporl of molecules and 1ons
C. To perform mechamcal work
Q.47 The rise in blood glucose concentration occurs due to which hormone?
B. Glucose
C. Insulin D. All of these
QA48 A group of populations that have the potential to interbreed In nature is
known as which of the following?
A, Genus B. Family
D. Community
Q.49 Animal cells are Interconnected by which of the following?
A Plasma membmne B. Cell wall
Desmosomes D. Plasmodesmata
Q.50 The part of chlorophyll molecule Is embeddéd in the core of thylakaid
2N

membrane which Is? N

A. Hydrophilic /‘ 3. Hydrophobic]

C. Both of these D. Nun\tt of lhese
Q51 What is reduced In phnlnmthuls"

A. Oxygen

C. Water

Q.52 ‘What's the difTercnce hr.-rm homologous anlllmil[l]gl:lu.'i structdres?
A. Homologous stfﬂc ures If.'snl from a common anc\ék}n.annlﬂﬂuus structures

result from rcpétjfe e h%th: 1. jdual ) m/
B. Homologous stritchares resalt ﬁnm com nt evol logous structures

result from'a ummm;‘hn;%\'a_}, “KZ
C.}ﬁ;g:ja io'difference bctw:m umnluzaﬁ:and alogous structures

D. Homologous structures result Irmn a COMmon ancestor: analogous structures

esult from convergent evolution SR
Q53 Storage form of llpll‘l! 1 y
A. Esterified thpl B. Glycerophospholipids

" Tnglvcendes D. Sphingolipids
Q54 “'hl:h of the l'ullmﬂng IS'IJi voviviparous animal?
~— B. Humans
D. All of these
Q55 A defective virus that needs the unrelated help of virus tl Infect the same host
cell In order to provide essentlal functions
B.HAV
C.HCV D. HIV
Q.56 Which Is not the characterlstic of triploblastic?
A. They may be coelomate pseudocoelomate or acoelomate
B. They are included in grade bilatenia
C. All of them have a digestive system

C- Blue slm:k

D. All of them have blood vascular system
Q57 The envelope of an enveloped virus is derived from?
A. The milochondrion of the cell
B. Cell membrane of host cell
C. Endoplasmic reticulum of the cell
D. None of these
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Q58

Q.60

Q.61

Q.62

Q.63

Q.64

Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

The end product of an enzymaltle reaction Inhlbits formation of product in an
earlier step. Thls type of enzymatic regulation Is known as?

AL Allosteric regulation B. Negalive regulation

C. Metabolic pathway loop
The process of self-digestion of selective nonfunctional organelle by cells
through the actions of enzymes originating from the cell is called?

0. Feedback inlubition

A Pinocylosis B. Endocytosis

C. Autophagy D. Cytotoxieity

The composition of the white matter of spinal cord Is:

A. Myelinaled dendrite B. Non-myelinated dendrite

C. Non-myelinated axon .
The stomata are closed at which of the followlng temperature? (In
centigrade)

B.35

C 15 D.
What contributes to genetic variation r.lurl.llgr hul;nnn reproduction?
A. Random fertilization dum mating

C. Independent assortment .: D. A ] of these
Which of the following best descrit theim ol ptlrll'}‘il:lg selection?

A. Il increases [requency of an allele

B. It is the same as dtsmpméfsdeﬂmn \
C. It increases genetic d_;v.és_l_l}! X

D. It removes varation from the po

Which of the l'nlluﬁ fl:lg :h:lr:l:li.'rs is not typical 1o Alammalia?
A. Alveolar lu.ngs B Seven ccmg;ﬁrcncbmc
C. Thecodont dentition W
“'hat is lhe\appruxl Iﬂl‘.‘ er of the ¢ peroxisome?

‘ "B. 1.5hicrometer

C. 2 micromeler

ﬂ 'T/:.'mr: rometer

I'tu ollicle :e[lu.;'m'fr elease ul'lht ege, Are moidified to form a special
sfrn:tnrt tlﬂ!d -—-.,

A Endumel:num B. Perimetrium

C. Corpus luteum 2 D. None of these

“'hl:h hurmun&lq__lul in opening and closing of stomata?

= B. Oxaloacclic acid

C- Absmsm acid |, D. None of these

Which of these lunctlions will be afTected Il the medulla oblongata is
damaged?

A. Thermoregulation

B. Vision

C. Memory

D. Tactile sensation-response when pncked with a needle

PHYSICS

Magnetlc induction is also called
A_ Flux B. Magnelization
C. Magnelic intensity D. Flux intensity

Consider a capaclior has vacoum In the space between the conductors. If we doable
the amount of charge on each conductor, what happens 1o the capacitance?
A. Il Increases B. it decreases

CL Ot remains same D. it depends on the size or shape of the conductors
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QM

Q.72

Q.73

Q.78

Q.79

Q.80

Q.81

Q.82

Q.83

Q.84

The speed of sound In a metal Is approximately:

A. 1500 m's B. 5000 m's
C.330m's D. 50 m's
The acceleration Is a:....

A. Vector quantity B. Scalar quantity

C. Dimensionless guantity D. None of these

__ are such nuclel of an element that have the same atomlc number Z, but
have different mass number

B. Isobars
D. Isotherms
Which of the following is equivalent to a temperature 350K7?
; B.-77°C
C.623°C D.-623°C

A body iIs travelling In a circle of radlus r at a speed v, Its centripetal
acceleration will be:
Aa=r/v

Principle of transformer is

A Mutual inductance
C. Motional emf{ .. ! N
Two objects, with lllﬁeremflfes, masses, d?cm‘perMs;ar gced in

thermal contact. In wh}gﬂd'lt*ecﬂﬁn does fﬁ?&mrg}' Fr?ﬁl".
A_ Foergy travels frumﬁlexfll"g'i:r object to the smll object
B. Enerpy travels ﬁ%l‘n the niﬁe@_l with more mass l&;hﬂ.hn;_'}!r_i_th less mass
C. Energy travels from the object at higher temperature to the object at lowey
B “ : \4 y

e < S
D. Energy does not travel | - -
A difderrorky In _blas for rectification
| “.'
¢ Mid /o""\\ \—-v D. Posilive

Ohmi's law s applicable to

A. Semiconducio

C. E‘::rhur‘l"éﬁfsmrs D. None of these

Platinum wire @j_ﬂfnﬂ' at a temperature of degree C.

A. 900 \ B. 500
. 1300) ¢ D. 1600
Under the action of the restoring lorce:

A. The speed of the body always increases

B. The body moves at constant speed

C. The body always slows down

D. The body accelerates

What is the relatlonship between Power, Current and voltage?

A P=Vi B. P=VI

C.2P=1+V D. All of them

If a force of 2 N Is applied on charge of Coulomb, the electric field becomes
A.32N/IC B.23N/C

C.12NIC D. None of these

When an abject moves on a elrcular path and come back to Its inltial

position, then:
A. Only its distance is zero
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Q.36

Q37

Q.88

Q.89

Q.90

Q91

Q.92

Q.93

Q.94

Q.95

Q.96

Q97

Q.98

B. Only n1s displacement 15 zero
C. Neither distance nor displacement is zero
D. Both distance and displacement is zero

Average velocity Is delined as

A. Displacement/time B. Distance/lime

C. Distance * time D. Displacement % time
Planck's constant Is analogous to :

A lnentia B. Wave nature

C. Angular momentum D. Linear momentum

If a horse pulls a cart, work done by horse is

A, Negative B. Zero

D. None of these

Flnd the probability that the nucleus of ”REul underpgoes decay after three

hall-llves, I lts a radioactive substance which has a half-life of 6 days.
A 16

Coulomb’s law [s true for

A. Alomic distance

C. Charge as well as uncharged p

1 1 11 \ -
o 1 += = +E +... 4.
\n
C. Both of them \ D. N&n f them

Which of the given fi motion h\ type of 2D mutlnn"

A_ Circular /i "\\\\\B Pendu[ummuﬂun
C. Projectile motion, AN\ | D. All of thescf

“"h[l:h of tht following has ;ﬂ;ﬁrﬁ l@;lﬂyﬁn[ Miclent of resistance?

e |

N hrome D.Platinum
The radiation reachied oircarth by sun

&mf e — l" B. Bela

-
[ G:m.un \\ D. All of these
The tempétature coefficlent of resistance is expressed In:

A.°C g

C.m*C! = D. None of these

A nucleus emits ;p- particle, followed by two - partlcles. The final nucleus
L]

will be:

A_ An isotone of the original one B. An isotope of the original one.

C. An isobar of the original one. D. None of these

Which of the following is an assumption of the kinetic model of an Ideal gas?
A. Gas is at high pressure

B. Collision between particles are elastic

C. There are weak forces of attraction between particles in gas

D. Total energy of particles is proportional to the lemperature

Calculate the frequency if the number of revolutions [s 300 and the paired
poles are 50.

B. 150 kiz

C. 1500 kHz D. 150 Hz

If a transverse wave travelling in a rarer medium Is Incident on a denser
medium, It Is reflected such that...
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A. Il undergoes a phase change of 90 deg
B. It undergoes a phase change of 180 deg
C. It undergoes a phase change of 270 deg
D. It undergoes a phase change of 0 deg

Q.99 One radian means
A. Arc length of unit radius is half  [EREN TR GV T NVEFCRITTTAS
C. One degree D. All of these

Q.100 Man moves a roller through a distance of 20 m. 10 N of applied force is
inclined at 60° of directlon of motion what will be the work done by the man
B.50)

C.-1001] D.-50]

Q.101 Four wires of same material, the same cross-sectional area and the same
Iength when connected In parallel give a resistance of 0.25 ochms. If the same
four wires are connected is series the effective resistance will be
A. ] ohm B. 2ohm
C.3ohm

Q.102 A stationary wave Is set up In a pipe ur englh I.}whlch Is Is open [rom one
end. There are three nodes. How mm nﬂnudesuc cre [n the statlonary
wave? A’_( ‘\-\ '
A.2 %
C.4 3

Q.103 Which of the l'ullnwing__h not zn assumplian\l"lhe kinetle mnﬂ:l} an Ideal
gas?

A. Particles collidé/&fhstically}

B. Kinetic energy of a given particle 1s same

C. Thcn:g&nnfmﬂmlu &m&i&&

D. Inte ular pnteﬂlﬂl ent of memlehlm
Q.104 A tlltlnn:ry‘ rave is set uplll lpl e of length L,Avhich is open lrom both

Q.lI]S Thl.' furcu clween two I:h:u.‘g Qand q, !l.']'lﬂl‘:ltll.‘tl by a distance d Is F. What
will be the force-between {I_I when distance between them Is 4727

.f'“ B.2F

-
i

C F r' D.F
Q.106 A radloactlve source has a hall-life of 80 5. How lnng will it take lor 7/8 of the
source to decay?
A.10s B. 70s
D. 6405
Q.107 In full wave rectifier with input frequency S0 Hz the ripple In the output Is
malnly of frequency
A 25H2 B. 50Hz
D. zero
Q.108 In order (o enhance magnetic flux, the primary and secondary cofls of the
transformer are wound on

A_ Soft wron core B. Iron core

C. Hard iron core D. Steel core
Q.109 Magnetic field will not produce In case of
A. Charged positive particles B. Charged negative particles
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" Neutral particles D. All of these
Q.110 An ideal reversible heat engine Is 1 efTicient only If:
A. Hot reservoir is al 0K B. Hot reservoir is al 0C
C. Cold reservoir is at 0C
Q.111 Diffraction is prominent when the wavelength of light Is:
A. Five lime small ns compared with the size of the obslacle
B. Large as compared with the mass of the obstacle

. Large as compared with the size of the obstacle
D. One half as compared with the size of the obstacle

Q.112 A 18.0 V battery is connected to a capacitor, resulting in 27.0 pC of charge
stored on the capacltor. Iow much energy Is stored in the capacitor?

A.243x 107 B.4.86x 107
C.243x102) D.4.86x107)J
Q.113 Which light photon has the least momentum
B. Groen
C. Yellow ’2 B{ e
Q.114 The angular acceleration becomes four es whe
B. Alphi=tc=4

C. Alpha=3, =0 D= alpﬁa ~
Q.115 Acceleration due to gravity near earthis HN
A .

A. Nonuniform
C. Decreasing with distante
Q116 The length and radius of 511

simultancously, lhmgtbu
A Rﬁlsmnce.ﬁll bled

C. Resisiafic wlu be ha:vﬁiﬁd th spmﬁci&mmce will be doubled

\Ihcrcnsmﬂ ‘with lime.

ectiric reslstance ui} certain nlre e doubled

D/Re";ﬂmnce d specific s \d will both remafn uncharged
Q.117 The wo paints of 2 medium ares parated lhrnu-fhf a distance of 10 cm. What is the
pllls[‘:n&l: betweenThese ‘elength of the wave [s 0.1m.
Pn\ - — I B. 2
C.3irg” D. 3m/4

observe ~ /
JL Electnc fiel = # B. Magnetic field

D. None of these

Q.119 Il the wm-clenglll of a wave Is 20 em and fts time perlod Is T. What Is the
distance travelled by a crest on the wave in 1.25T7

A 30cm B.25 cm
C.15¢em D.40cm
Q.120 When gamma photon Is entered In nuclens It

A De-excite the atom B. Exeite the atom
C. Scatter by alom D. None of these
Q.121 A resistance of 40 Ohms is attached to a circult having current of 300 Amp,
Find its voltage.
B. 15000 volts
C. 20000 volts D. 300 volis
Q.122 The number of neutrons emerged out in a single nucleus during fission

reaction are

A Infinite B. Zeto
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N D. None of these
Q.123 During an adiabatle process the pressure of the gas Is found to be
proportional to fourth power of temperature. The Ideal gas would be
A_Hs B. e
C_CH| D. Mixture of H: and He
Q.124 A container Is [led with oxygen and helium at the same (emperature. The
molar mass of oxygen Is 32 g/mol and that of helium Is 4 g/mol. What is the
ratio: average speed of oxygen molecules —————— average speed of
hellom molecules?

B. V8

C.]l—-8 D.8
CHEMISTRY
Q.125 In Charles's Law, volume of gas Is directly related to which lactor?
A Pressure B. Temperature
C. Volume D Nulnber of moles

Q.126 The e/m value Is maximum for aas hmns‘éd‘\ga: alue of "m" for

positive rays obtained from it.
A_ Oxygen pas, lowest f \E‘&‘dmgm highest
". Hvdrogen gas, lowes

Q.127 “'h[l:h type of movement is shown by !Qﬁlum ﬂ\‘nl.bi__"ﬂ_’i

A. Translational motion \‘ B. Vibrational motion

C. Rotational motion D%idear motion
0Q.128 Following arc example of Intramolecular rurre‘ghrapl“
A. lonic bond B. Cov :-.Inu! bond>
C. Metallic bond © D. Dipole Dipole forces
Q.129 Iligh mnl&hlar mass organic compounds; _l&_h;yd' ysls vield amino aclds

are Clﬂﬂl A\ . N | P
A.ff"m«b'"ﬁ?ctm'les B. Lifids
D. DNA
Q.130 %@: nlmﬂa\.! tren on each atom therefore it
shm lhl"ee bm.'lﬂ
A2 51 pi houd
C. 3 sigma D. 3 pi bond
Q.131 Two rump:lrlmhruf a g:il. anic cell are connected by
A. A batlery - B. Electrical Wires
C. A pipe 4 D. Salt Bridge

Q.132 Which of the following is an example of free radical?
A Br
C.Br D. Cl:
Q.133 Fossil luels are produced dueto______ 7
A. Fast decomposilion of orgame matter
B. Decomposition of planls
C. Decomposition of animals

D. Biochemical decomposition of dead organic matier
Q.134 BufTer solutions reslst change In their

A. Temperature B. Solubility
C. Volatility
Q.135 The slope of the curve abtained by plotting concentration change with time Is
actoally
A. Reaction lime B. Reaction Speed
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(" Rate of reaction D. All of these
Q.136 Which of the following properties are associated with transition metals?

A. Color B. Complex [ormation
C. Use as catalyst
Q.137 According to Bohr's theory Electron sheuld move __ nearer to nocleus in
anorbitef ____ radii
A Slower, smaller B. Faster. smaller

C. Fasler, bigger D. Slower, bigger

Q.138 Which one of the [ollowing is a state function that describe both the internal
energy and product of pressure and volume?
A, Entropy B. Heat

D. Temperature

Q.139 Which of the following reaction takes place when alkyl hallide react with

KOH in waler?

A Substitution reaction B. Ellmlnalmn reaction

C. Addition reaction N-:mr: of these
Q.140 The number of atoms present n a molegule dﬂﬂmlucs [ts

A. shape B. 5123‘\\,‘

C. molecularity ™~ ;
Q.141 The atoms of hemoglobin Is ht:ﬂer\'lhi,u-ﬂ-jl?m:&'\

A. 67,000 times ®

C. 65.000 times :
Q.142 To avoid long reaction tim

N

T

D Gs,g\un times<_
d to get :qu]lil:rfnu:lm]:lure qu]: v we add

A. More reaclantss B. Catalvsi e
C. Inhibitors A ' D. Enz}fnflisﬁ.r' ;
Q.143 A _1s the force, ' two or mofe atoms or lons to

fnrm a l.lrg \'nrlel}}lmmiinnds k'7'
A_Johic gilic hond

G. C Erval:nl bond \ lj ffielal.lm hund

Q144 Ste:a causes more sever g waler because It has
AJitem tﬂffllﬂml , B. Latent heat of vaponzation
C. ['ent heat S eBrimatioa D. All of these

).145 Carboxy m:ids turn?
A_Red litmus bloe ,"; B. Blue litmus red

C. Neutral 10 Ill" _g D. No effect
Q.146 London tllspersln_n JIn es are the only lorces present among

A, Atoms of helium in gaseous state at lugh temperature
B. Molecules of water
C. Molecules of solid iodine
D. Molecules of HC| gas
Q.147 What Is the other name of 2,4,6-trinltrophenol?

A Picric acid B. Nitrophenol
C. TNT D. Benrophenone
Q.148 The first fonlzation potential of alkaline earth metal Is greater than alkali
metals because
A. They are more reactive B. They have greater atomic radii
D. All
Q.149 Which of the following has lower vapor pressure?
A. Glycerol

C. Ethanol D. Both A and C

C. Thev have smaller atomic sizes
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Q.150 The elements of which group show abnormally very low values of electron
affinlty In every perlod of perlodic table

A. Group 2A B. Group 5A
C.BothA & B D. None of these

Q.151 The shape of crystal in which It usually grows Is called ts
A. Size B. Capacity

D. Property

Q.152 Dehydration of alcohols at low temperature and high acld concentration

results in?
A. Alkepe
C. Carboxylic acid D. Aldehydes
Q.153 When we react an active metal like Al with less active element like Cu, it will
form
A. Dry cell B. Galvanic cell
C. Electrolytic cell D.Aand B
Q.154 Which of the following s not a derlvative u[ur{:{lnllc acld?
A. Alkv] Halide B. ﬁGEIEdeE
C. Esler D. Aﬂhyd._n\de
Q.155 In which direction Cathode rays def in hqpre;‘ql\:‘:\nl' magnetic field?

A_ Moves upward :N“t B. Moves downward

C. Move randomly / \D\t{m m?trughﬂ
0Q.156 An exothermle reactlonds allowed to reach tqullihrl;ﬁ:‘ﬂ Ilﬂt ¢ Is then
removed, the equillbrium wi i 4

> shift
A. To the product side

C. Toward thehiddle D. None of these”
Q.157 An exothermlc rn::r.rﬂ £ ullihrlunl/ il heat energy is then
removed m‘: cqumhmnhms m\—\:“'---r

1{‘ -:t side ) B. Toreactant side
(‘.,(T?{'ard the middle \ D. aﬂmc of these
Q.158 TIBH: causes. n'd_?ﬂnn alde

A, \|LU|‘|H1~ -
C. Fhml;l/—‘\ D. Alkanes
).159 When an électrophilic reng!jn altack on alcohol

A. O — H bond formed_
C. C— O bond hredks
Q.160 Compounds hm?lillé,

¥

B.Tor __E_Lde

elones inlo ?

B. O — H bond breaks
D. Rise in boiling point
enzene ring are called as ?

A. Alicyclic B. Aliphatic compounds

C. Aromalic compounds D. Acyclic compounds
Q.161 The reaction In Galvanic Cell is

B. Nonspontaneous

C. Ireversible D. Endothermie
Q.162 Structure of ice Is similar to which of the followlng?

A. Liquid water B. Diamond

C. Graphile D. Sucrose
Q.163 Mardness of transition metals Is due (o 7

A. More melting point B. More electrons

C. Vanable oxidalion state D. Higher binding energies
Q.164 Which of the following sollds Is Isotropic?

A. Tonic solids B. Molecular solids
. Amomphous solids D. Metallie solids
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Q.165 The mechanlsm ol reaction can be understood by

A Expennmental details B. Balanced chemical equation
C. Molar Ratio D. All of these
Q.166 Which of the following compound Is formed when NACI reacts with
CILMeBr
A. CH:.CN B. CH.CI
C. CHsCH:NH- D. None of these
Q.167 Which one of the fullowing shows that lodoform test for a compound Is
positive?
A. Formation of carboxylate salt B. Brick red precipitate formation
C. Yellow erystals D. Formation of water
Q.168 LDH-1 Is ralsed in which disease:
A. Rickels B. Anemia
D. Stroke
Q.169 Hydroxide Ions are combine to give ,4
A. Alcohols E‘-Al ehydes
", Oxyegen D.H
Q.170 T]:u: transition elements belongs (o ann,g:- IB ar%

A.Zn,Cd, Hg y ‘*-,B*Fc\gu Os,
C.Mn, Te,Re {0

Q.171 Benzene molecule r:n:ml:tingj.:"r
A. Three triple bonds Z

dwo double bonds *--..

D. No.nultiband
. N

n=5lon=2 h:l\'lng'"l\ﬂmnu_mhur equal to

winiepnz 57,
T

C. Vlslble \
Q.173 The ﬂrctl.'lu conductivity of metal sometimes decreases with the

C. Three double bonds

Q.ITZ When an eln:trun’j I
23x16m? Inwhlch
A Layman

.i?: Y rease in pressure B. Increase in temperature
C.Da;{_‘ea_se in Lnnﬁ:ﬁ?‘r-‘u}{\ N D. Decrease in pressure
Q.174 Wllkh unilﬁc pmmrejs co mun]ru.n'd by meteorologist?

A. u’tm - o B. pascal

C.mmu 2 ) D). mullibar

Q.175 Liquid hydrocarbons Is convérted into gaseous hydrocarbon by

> B. Hydrolysis

-

C.Oxidation \ D. Distillation
Q.176 The total number of bond angles In methane are
A2 B.3
C.5 0. 4
Q.177 A molecule ol water has two bond, so 1 mole of waler will contain _ moles
of bonds
Al
C.3 D. 4

Q.178 During preparation ol Acetaldehyde lrom ethanol in laboratory, why
aceialdehyde Is distilled ofl quickly after formation?
A. To avoid decomposition of product B. To avoid reduction
C. To avoid further oxidation to acetic acid i ERihER Va1 1517
Q.179 Which of the following boad has highest bond energy value?
A.C-1 B.C—H
C.C-Cl D.C—I
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Q.180 In a vacuum distillation the bolling polnt of glycerin Is reduced to ?
A 290°C B. 110°C

C. 156°C

ENGLISH

Q.181 Choase the correct spelling of the word

A_Fual B. Fuel

C. Fule D. Fuil
Q182 1 him for a long time.

A. know

C. am knowing D. knew
Q.183 Ink in my pen is red.

ALA B. An

D. No article
Q.184 Our nelghbors have

A.a.an

C.a..1the
Q.185 Most big citles have unive

A.a I

C. the
Q.186 Choose the correct spel]lng,:rtif he '

A. Anothar Z k3. Anothe

C. Anuther ' \\\ D. Another

sen
\
|

Q.187 The A1 chosen'for the constructiomolhe bullding Is In the
heart of the citys T
A.Cite _ B. Slight )~

C. Sigh’tjx\ ' n \\\ : -
0Q.188 M}'\l!rn!hn_'-ag‘tl sster \ basketball évery evening.

{5 N, \
C. Praclising
Q.189 Pledse besea e
A. Declarative .
C. Interrogalive
Q.190 should have
A Shouldh've

B. Practise
. Are practicing

B. Imperative

D. Exclamatory

B. Should've

C. Shouldv'e 5 D. Should'ave
Q.191 The ebb and Mow of the tides explained by Newton.
A. are
C. were D.is
Q.192 What Is the tense of this question? Will Tom be able to mend that broken
window?
A_ Presenl B. Past
D. None of these
Q.193 Jack Is six years old, but he French and Spanish.
B. is speaking
D. Speak
Q.194 The information provided to yoo Wrong.
A. Were
C. Are D. Have been
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Q.195 Juxtapasition

B. Wit

C. lmage D. freedom
0.196 We are trving to locate Lthe histordcal city for Lhe past two vears.
A B C D

A We were trying B. To locate the
C. Histoncal city for D. The past two years.
Q.197 Sentiment

A. Practical

C. Dispassionale D. Realistic
Q.198 It needed the collective genlus of mankind to ............ the wheel.
A. Discover B. Find

C. Perform

Q.199 Choose the correct spelling of the word

A. Possesion

C. Posesion Pn ssion
Q.200 man [s mortal

AA

C. The / w

LOGICAL REASONING

201 Statements '
(T) The childrens are h‘é:g lu(mress!\ e toda 1\\;\\\')>

(II) There Is no sp-écl[lc Iimfll'. l'!ur childrens to use mobhlle screens

A. Statement L.I:s 1]1& e effect
B. Both of the stalements® kaud zﬁbliamndenn :

C. Statement 2 is the cause and | 1s the effect S —"
D. Bullume?qq::ms | and Ime{fects of some com
Q.202 Which one does not IJelnI.'lﬂ to nth\'ts b /

AE![:-IE . Mingo
NN A2
Q.203 Smt:mﬂlt \
Shnultl chudrun bie prev enl:tl ompletely [rom watching television?
Arguments

(T) No. “egetv;lh"ﬁl‘nm lon regarding education through television.
(IT) Yes. It hampe ¢ 1}.].e""m:_v, of children.
h

(IT) Yes. Young children are misguided by certain programmes featuring
violence

A. Only L 11 and III are strong B. Only 115 strong

C. Oaly 1 and I1 are strong D. Only 1 and II are strong

Q204 What is the multiplicative inverse of 1/2?
A.-2
C.-1/2 D.Both Aand B

Q.205 Statement:
The Management of School M has decided to give Irec breakfast [rom next
academic year to all the students in its primary section throogh its canteen
even though they will not get any governmenl granL.
Courses of Actlon
(I) The school will have to admit many poor students who will seek admission
for the next academic year.
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(II) The canteen facllitles and utensils have to be checked and new purchases
to be maide to equip It properly.

(1II) Funds will have to be ralsed to support the scheme lor years to come.
A. Only [T and [11 follows B. Only 111 and 1 follow

C. Only 1and 11 follow D. Only I follows

0Q.206 Statement:

Q.207

Q.208

Q.209

Q.210

The avallabillty of imported frults has Increased In the Indigenous market
anil so the demanid for Indigenous frults has been decreased.,

L To help the Indigenous producers of [ruits, the Government should Impaose
high Import duty on these frulls, even If these are not of good quality.

IL. The frult vendors should stop selling Imported [ruits. So that the demand
for Indlgenous frults would be Increased.

A. Both of them follows B. None of them [ollows

C. Only 1 follows D. Only 11 follows

In which year Pakistan and China JoInt Venture of JF7 Thunder Alrerall
started? \

A. 1997 B. 2007
C. 1999 D. nmh"'h

dB
o
Statement: 4 \."\‘_‘H :“N
I. The university authority has Instrucied all thécolleges nnder Its

jurisdictlon to ban use of alf phones In;l;!g\ﬂlje college Fr:l;.liil\
II. Majorlty of the len;_h{nfn the colleges cfg;‘ed a ]niﬁtmﬂuu\ﬁ_‘t the
unlversity complalning the dljturbances cauﬁ&_l:_y\:nll phun?ﬂnﬁnnns
Inside the classrodms.
A. Statement Ii?il'-thé‘n_\dhsc and'safement 11 is its effecty 4
1. Statement 11 15 the cause and statement 1 15 its effectid
C. Bolh thié statements Tand [T aré independent'canse
D. 5?]1_1!1:- 15[}1;:.‘mems I and ITare'effects of sme common cause
Quo &and Poet have ___\I'lllrl;hh' of same I€tters
L.JEQ PN 2k

7 D.2

\""—'—H.“ g \".,_‘

Fact I:.Plﬂul‘t.".'i‘ﬂ'm tell itu}'

Fact 2: ,ﬂl'iﬁru'ylmuks havea plcture

Fact 3: Some ilnrx__tﬁ:-gpk.rl';.:i e words

Il the above ﬂiﬁi&"ﬂ:lﬁiwﬁq are facts than which of the lollowing statement
wlll also be a fﬂSI‘

L. Plctures can tell a story better than words can

I1. The storles In storybooks are simple

III. Some story books have hoth pletures and words

A.Only 1 B. Only Il

., Only 11 D. None of them is a fact

As we know there is lot of mistakes in answer keys of

PMC Practice tests, so | have decided to rectify all in

proper in SKN STUDY GROUP
Join it
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